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Find the slope of the line through cach pair of point:

7) (8.10).(-7,14)
i 10 4

e —— W

-1-® -5

9 120, 4). (12,10
-M,v-i -kv' -3
-IL..L “ - :E

110 (1B, 200 .( 1B 1%)

nl el o

S222 3¢ {w“.-irf‘.'wud{
v ——

8 (-3.1).017.2)

2-1 g_,_]
TNed =i | M

10) (12.5). 0. 8
-85 -3 L]

— C"zi .1
12) (8.10).(-7,10)

wie oo, r'\
ol i S £ 1 =

—



Tell whether the lines are parallel, perpendicular or neither.

13. x=4andy=3 14. x=5andx=6
pevpendiculoy poralle]

Complete the table and graph the line.

15. y=-3x-1 16. x=-3
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